	S COUNTY, OREGON										
PROJECT #	W66086				SESTIMATE	MARCUM AN	ND SONS LLC		ORPORATION - HWEST	JACK ROBINSC	N & SONS, INC
	BID RESULTS	ENGINEER'S ESTIMATE		336 SW BLACK BUTTE BLVD REDMOND, OR 97756		64500 O.B. RILEY RD BEND, OR 97703		64964 GRAYSTONE LN BEND, OR 97701			
BID OF LININ	ITEMS	UNIT PRICE	TOTAL	UNIT PRICE TOTAL		UNIT PRICE TOTAL		UNIT PRICE TOTAL			
1	Mobilization	LS	QNTY 1	\$70,000.00	\$70,000.00	\$83,890.00	\$83,890.00	\$64,000.00	\$64,000.00	\$141,000.00	\$141,000.00
2	Temporary Protection And Direction Of Traffic	LS	1	\$20,000.00	\$20,000.00	\$11,040.00	\$11,040.00	\$8,750.00	\$8,750.00	\$40,000.00	\$40,000.00
3	Temporary Signs	SQFT	725	\$22.00	\$15,950.00	\$21.00	\$15,225.00	\$23.00	\$16,675.00	\$22.00	\$15,950.00
4	Temporary Barricades, Type III	EACH	15	\$100.00	\$1,500.00	\$150.00	\$2,250.00	\$80.00	\$1,200.00	\$175.00	\$2,625.00
5	Temporary Plastic Drums	EACH	75	\$35.00	\$2,625.00	\$40.00	\$3,000.00	\$20.00	\$1,500.00	\$60.00	\$4,500.00
6	Temporary Flexible Pavement Markers	EACH	500	\$1.25	\$625.00	\$1.00	\$500.00	\$0.40	\$200.00	\$1.50	\$750.00
7	Temporary Striping	FOOT	8,000	\$0.25	\$2,000.00	\$0.25	\$2,000.00	\$0.26	\$2,080.00	\$0.40	\$3,200.00
8	Temporary Pavement Bars	SQFT	40	\$10.00	\$400.00	\$5.00	\$200.00	\$5.50	\$220.00	\$8.00	\$320.00
9	Stripe Removal	FOOT	1,600	\$0.50	\$800.00	\$0.60	\$960.00	\$1.10	\$1,760.00	\$4.40	\$7,040.00
10 11	Portable Changeable Message Signs	EACH	3 200	\$4,000.00 \$50.00	\$12,000.00	\$2,000.00 \$60.00	\$6,000.00	\$51.00 \$64.50	\$153.00	\$6,600.00 \$69.00	\$19,800.00 \$13,800.00
11	Flaggers Flagger Station Lighting	HOUR EACH	200	\$50.00	\$10,000.00 \$3,000.00	\$500.00	\$12,000.00 \$1,500.00	\$04.50	\$12,900.00 \$900.00	\$69.00	\$13,800.00
12	Construct And Remove Detours	LS	3	\$1,000.00	\$3,000.00	\$70,273.00	\$1,500.00	\$300.00	\$900.00	\$745.00	\$2,235.00
13	Erosion Control	LS	1	\$2,500.00	\$2,500.00	\$3,740.00	\$3,740.00	\$540.00	\$540.00	\$3,000.00	\$3,000.00
15	Construction Survey Work	LS	1	\$18,000.00	\$18,000.00	\$18,000.00	\$18,000.00	\$19,000.00	\$19,000.00	\$21,780.00	\$21,780.00
16	Removal Of Surfacings	SQYD	4,665	\$3.00	\$13,995.00	\$2.50	\$11,662.50	\$3.00	\$13,995.00	\$4.00	\$18,660.00
17	Asphalt Pavement Saw Cutting	FOOT	2,760	\$1.10	\$3,036.00	\$1.00	\$2,760.00	\$0.50	\$1,380.00	\$1.20	\$3,312.00
18	Removal Of Fences	LS	1	\$4,150.00	\$4,150.00	\$1,107.00	\$1,107.00	\$750.00	\$750.00	\$300.00	\$300.00
19	Removal Of Sound Wall	LS	1	\$11,250.00	\$11,250.00	\$2,478.00	\$2,478.00	\$5,500.00	\$5,500.00	\$7,500.00	\$7,500.00
20	Clearing And Grubbing	ACRE	1.5	\$8,000.00	\$12,000.00	\$4,290.67	\$6,436.01	\$2,250.00	\$3,375.00	\$3,000.00	\$4,500.00
21	General Excavation	CUYD	1,990	\$25.00	\$49,750.00	\$22.91	\$45,590.90	\$25.00	\$49,750.00	\$36.00	\$71,640.00
22	Watering	MGAL	550	\$1.00	\$550.00	\$0.01	\$5.50	\$0.02	\$11.00	\$37.00	\$20,350.00
23	Finishing Roadbeds	LS	1	\$10,000.00	\$10,000.00	\$12,930.00	\$12,930.00	\$10,850.00	\$10,850.00	\$17,750.00	\$17,750.00
24	Loose Riprap, Class 50	CUYD	5	\$400.00	\$2,000.00	\$86.00	\$430.00	\$150.00	\$750.00	\$120.00	\$600.00
25	8 Inch Storm Sewer Pipe, 5 Ft Depth	FOOT	72	\$65.00	\$4,680.00	\$45.25	\$3,258.00	\$110.00	\$7,920.00	\$60.00	\$4,320.00
26	Concrete Inlets, Type G-2	EACH	2	\$3,000.00	\$6,000.00	\$2,610.00	\$5,220.00	\$3,520.00	\$7,040.00	\$2,180.00	\$4,360.00
27 28	School Name Lettering Sound Walls	LS SQFT	1 800	\$6,000.00 \$60.00	\$6,000.00 \$48,000.00	\$6,000.00 \$89.65	\$6,000.00 \$71,720.00	\$6,540.00 \$125.00	\$6,540.00 \$100,000.00	\$2,100.00 \$55.50	\$2,100.00 \$44,400.00
20	Cold Plane Pavement Removal, 0 - 2 Inches Deep	SQYD	670	\$3.00	\$48,000.00	\$4.25	\$2,847.50	\$125.00	\$1,206.00	\$7.60	\$5,092.00
30	Cold Plane Pavement Removal, 2 Inches Deep	SQYD	2,700	\$5.00	\$13,500.00	\$2.50	\$6,750.00	\$2.30	\$6,210.00	\$7.00	\$18,900.00
31	3/4 Inch - 0 Aggregate Base	TON	2,300	\$28.00	\$64,400.00	\$31.42	\$72,266.00	\$23.00	\$52,900.00	\$30.00	\$69,000.00
32	Aggregate Shoulders	TON	1,500	\$31.00	\$46,500.00	\$31.42	\$47,130.00	\$23.00	\$34,500.00	\$32.00	\$48,000.00
33	Level 3, 1/2 Inch ACP Mixture PG 70-28ER	TON	910	\$70.00	\$63,700.00	\$80.00	\$72,800.00	\$71.00	\$64,610.00	\$83.35	\$75,848.50
34	Level 3, 1/2 Inch ACP Mixture PG 64-28	TON	1,370	\$68.00	\$93,160.00	\$70.00	\$95,900.00	\$74.00	\$101,380.00	\$80.00	\$109,600.00
35	Extra For Asphalt Approaches	EACH	6	\$2,000.00	\$12,000.00	\$700.00	\$4,200.00	\$1,000.00	\$6,000.00	\$2,000.00	\$12,000.00
36	Concrete Curbs, High Strength, Low Profile Mountable, Truck Apron	FOOT	315	\$18.50	\$5,827.50	\$17.23	\$5,427.45	\$20.50	\$6,457.50	\$19.00	\$5,985.00
37	Concrete Curbs, High Strength, Low Profile Mountable	FOOT	2,273	\$18.00	\$40,914.00	\$16.82	\$38,231.86	\$19.00	\$43,187.00	\$18.50	\$42,050.50
38	Concrete Curbs, High Strength, Wide Modified Stamped Concrete, 6 Inches Thick, Concrete	FOOT	220	\$26.00	\$5,720.00	\$25.02	\$5,504.40	\$28.90	\$6,358.00	\$27.55	\$6,061.00
39	Surfacing Stamped Concrete, 8 Inches Thick, Concrete	SQFT	3,585	\$8.00	\$28,680.00	\$6.95	\$24,915.75	\$7.80	\$27,963.00	\$7.65	\$27,425.25
40 41	Surfacing Bicycle Exit Ramp, Concrete Surfacing	SQFT SQFT	3,695 100	\$9.50 \$9.00	\$35,102.50 \$900.00	\$8.74 \$7.40	\$32,294.30 \$740.00	\$9.70 \$11.80	\$35,841.50 \$1,180.00	\$9.65 \$14.00	\$35,656.75
41	Curb Cut, Concrete Surfacing	SQFT	500	\$9.00	\$900.00	\$17.74	\$740.00	\$11.80	\$1,180.00	\$14.00	\$1,400.00
42	Permanent Surface Mounted Tubular Markers	EACH	42	\$20.00	\$5,670.00	\$17.74	\$5,040.00	\$19.20	\$9,600.00	\$24.00	\$2,730.00
44	Thermoplastic, Extruded Or Sprayed, Surface, Non-Profiled	FOOT	16,000	\$1.20	\$19,200.00	\$0.75	\$12,000.00	\$0.90	\$14,400.00	\$0.90	\$14,400.00
45	Pavement Bar: Type AB	SQFT	80	\$15.00	\$1,200.00	\$10.00	\$800.00	\$8.80	\$704.00	\$8.80	\$704.00
46	Pavement Legend, Type AB: Yield Line Triangle	EACH	27	\$60.00	\$1,620.00	\$32.00	\$864.00	\$43.00	\$1,161.00	\$43.00	\$1,161.00
47	Pavement Legend, Type AB: Arrows	EACH	2	\$350.00	\$700.00	\$300.00	\$600.00	\$330.00	\$660.00	\$330.00	\$660.00
48	Remove Existing Signs	LS	1	\$1,000.00	\$1,000.00	\$900.00	\$900.00	\$980.00	\$980.00	\$500.00	\$500.00
49	Remove And Reinstall Existing Signs	LS	1	\$800.00	\$800.00	\$900.00	\$900.00	\$980.00	\$980.00	\$750.00	\$750.00
50	Sign Support Footings	LS	1	\$15,200.00	\$15,200.00	\$16,000.00	\$16,000.00	\$17,440.00	\$17,440.00	\$15,500.00	\$15,500.00
51	Triangular Base Breakaway Sign Supports	LS	1	\$12,000.00	\$12,000.00	\$11,500.00	\$11,500.00	\$12,535.00	\$12,535.00	\$12,250.00	\$12,250.00

PROJECT # W66086 BID RESULTS BID OPENING : 2:00 PM 9/30/2020				ENGINEER'S ESTIMATE		MARCUM AND SONS LLC 336 SW BLACK BUTTE BLVD REDMOND, OR 97756		KNIFE RIVER CORPORATION - NORTHWEST 64500 O.B. RILEY RD BEND, OR 97703		JACK ROBINSON & SONS, INC 64964 GRAYSTONE LN BEND, OR 97701	
	ITEMS UNIT QNTY			UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
52	Perforated Steel Square Tube Slip Base Sign Supports	LS	1	\$12,750.00	\$12,750.00	\$10,000.00	\$10,000.00	\$11,990.00	\$11,990.00	\$10,000.00	\$10,000.00
53	Signs, Standard Sheeting, Sheet Aluminum	SQFT	159	\$30.00	\$4,770.00	\$18.00	\$2,862.00	\$19.00	\$3,021.00	\$13.00	\$2,067.00
54	Signs, Standard Sheeting, Extruded Aluminum	SQFT	176	\$35.00	\$6,160.00	\$43.00	\$7,568.00	\$47.00	\$8,272.00	\$40.00	\$7,040.00
55	Pole Foundations	LS	1	\$36,000.00	\$36,000.00	\$29,242.00	\$29,242.00	\$32,160.00	\$32,160.00	\$12,600.00	\$12,600.00
56	Switching, Conduit, And Wiring	LS	1	\$87,000.00	\$87,000.00	\$60,938.00	\$60,938.00	\$58,380.00	\$58,380.00	\$35,000.00	\$35,000.00
57	Water Quality Mixture	CUYD	180	\$65.00	\$11,700.00	\$36.00	\$6,480.00	\$82.50	\$14,850.00	\$60.00	\$10,800.00
58	Permanent Seeding, Mix No. 2, Water Quality Swale Seeding	ACRE	0.1	\$4,500.00	\$450.00	\$5,400.00	\$540.00	\$5,940.00	\$594.00	\$9,900.00	\$990.00
59	Shrubs, #1 Container	EACH	91	\$120.00	\$10,920.00	\$110.00	\$10,010.00	\$118.00	\$10,738.00	\$148.00	\$13,468.00
60	Shrubs, #2 Container	EACH	27	\$115.00	\$3,105.00	\$111.00	\$2,997.00	\$118.00	\$3,186.00	\$155.00	\$4,185.00
61	Shrubs, #5 Container	EACH	9	\$280.00	\$2,520.00	\$272.22	\$2,449.98	\$290.00	\$2,610.00	\$172.00	\$1,548.00
62	Groundcovers, #1 Container	EACH	105	\$90.00	\$9,450.00	\$90.00	\$9,450.00	\$97.00	\$10,185.00	\$148.00	\$15,540.00
63	Rock Mulch a	TON	12	\$150.00	\$1,800.00	\$140.00	\$1,680.00	\$152.00	\$1,824.00	\$165.00	\$1,980.00
64	Rock Mulch b	TON	30	\$180.00	\$5,400.00	\$175.00	\$5,250.00	\$90.00	\$2,700.00	\$165.00	\$4,950.00
65	Conifer Trees, 6 Ft Height	EACH	3	\$780.00	\$2,340.00	\$1,150.00	\$3,450.00	\$1,240.00	\$3,720.00	\$440.00	\$1,320.00
66	Sod Lawn	SQYD	3,550	\$3.00	\$10,650.00	\$0.01	\$35.50	\$0.80	\$2,840.00	\$13.25	\$47,037.50
67	Boulders	EACH	18	\$180.00	\$3,240.00	\$190.00	\$3,420.00	\$205.00	\$3,690.00	\$110.00	\$1,980.00
68	Multiple Mailbox Supports	EACH	3	\$500.00	\$1,500.00	\$500.00	\$1,500.00	\$545.00	\$1,635.00	\$500.00	\$1,500.00
					\$1,095,370.00	TOTAL =	\$1,024,529.65	TOTAL =	\$1,028,217.00	TOTAL =	\$1,240,471.50

PROJECT #	W66086										
								TN/ 00 100			
		ENGINEER'	S ESTIMATE	K&E EXCAVATING, INC. 3871 LANGLEY ST SE		TAYLOR NOR		JAL CONSTRUCTION, INC			
	BID RESULTS					18500 BULL SPRINGS RD		123 SE 4TH ST			
	: 2:00 PM 9/30/2020					SALEM, OR 97317		BEND, OR 97703		BEND, OR 97702	
	ITEMS	QNTY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	
1	Mobilization	UNIT LS	1	\$70,000.00	\$70,000.00	\$125,000.00	\$125,000.00	\$84,925.00	\$84,925.00	\$128,000.00	\$128,000.00
2	Temporary Protection And Direction Of Traffic	LS	1	\$20,000.00	\$20,000.00	\$4,500.00	\$4,500.00	\$37,250.00	\$37,250.00	\$18,000.00	\$18,000.00
3	Temporary Signs	SQFT	725	\$22.00	\$15,950.00	\$22.00	\$15,950.00	\$22.70	\$16,457.50	\$20.00	\$14,500.00
4	Temporary Barricades, Type III	EACH	15	\$100.00	\$1,500.00	\$155.00	\$2,325.00	\$182.00	\$2,730.00	\$100.00	\$1,500.00
5	Temporary Plastic Drums	EACH	75	\$35.00	\$2,625.00	\$43.00	\$3,225.00	\$55.00	\$4,125.00	\$24.00	\$1,800.00
6	Temporary Flexible Pavement Markers	EACH	500	\$1.25	\$625.00	\$2.50	\$1,250.00	\$0.60	\$300.00	\$2.00	\$1,000.00
7	Temporary Striping	FOOT	8,000	\$0.25	\$2,000.00	\$0.27	\$2,160.00	\$0.80	\$6,400.00	\$0.27	\$2,160.00
8	Temporary Pavement Bars	SQFT	40	\$10.00	\$400.00	\$5.50	\$220.00	\$11.00	\$440.00	\$5.35	\$214.00
9 10	Stripe Removal Portable Changeable Message Signs	FOOT EACH	1,600 3	\$0.50 \$4,000.00	\$800.00 \$12,000.00	\$0.65 \$3,300.00	\$1,040.00 \$9,900.00	\$0.50 \$5,720.00	\$800.00 \$17.160.00	\$0.65 \$3,500.00	\$1,040.00 \$10,500.00
10	Flaggers	HOUR	200	\$50.00	\$12,000.00	\$63.00	\$12,600.00	\$64.50	\$12,900.00	\$60.00	\$12,000.00
12	Flagger Station Lighting	EACH	3	\$1,000.00	\$3,000.00	\$1,200.00	\$3,600.00	\$165.00	\$495.00	\$1,500.00	\$4,500.00
13	Construct And Remove Detours	LS	1	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$92,235.00	\$92,235.00	\$130,000.00	\$130,000.00
14	Erosion Control	LS	1	\$2,500.00	\$2,500.00	\$6,000.00	\$6,000.00	\$250.00	\$250.00	\$4,000.00	\$4,000.00
15	Construction Survey Work	LS	1	\$18,000.00	\$18,000.00	\$21,000.00	\$21,000.00	\$17,712.00	\$17,712.00	\$20,000.00	\$20,000.00
16	Removal Of Surfacings	SQYD	4,665	\$3.00	\$13,995.00	\$3.00	\$13,995.00	\$5.00	\$23,325.00	\$10.00	\$46,650.00
17	Asphalt Pavement Saw Cutting	FOOT	2,760	\$1.10	\$3,036.00	\$1.75	\$4,830.00	\$0.75	\$2,070.00	\$1.00	\$2,760.00
18	Removal Of Fences	LS	1	\$4,150.00	\$4,150.00	\$1,700.00	\$1,700.00	\$1,000.00	\$1,000.00	\$450.00	\$450.00
19	Removal Of Sound Wall	LS	1	\$11,250.00	\$11,250.00	\$21,000.00	\$21,000.00	\$10,084.00	\$10,084.00	\$6,300.00	\$6,300.00
20	Clearing And Grubbing	ACRE	1.5	\$8,000.00	\$12,000.00	\$7,000.00	\$10,500.00	\$4,345.00	\$6,517.50	\$5,000.00	\$7,500.00
21	General Excavation	CUYD	1,990	\$25.00	\$49,750.00	\$16.00	\$31,840.00	\$15.00	\$29,850.00	\$28.50	\$56,715.00
22 23	Watering Finishing Roadbeds	MGAL LS	550 1	\$1.00 \$10,000.00	\$550.00 \$10,000.00	\$50.00 \$20,000.00	\$27,500.00 \$20,000.00	\$55.00 \$17,360.00	\$30,250.00 \$17,360.00	\$35.00 \$30,000.00	\$19,250.00 \$30,000.00
23	Loose Riprap, Class 50	CUYD	5	\$400.00	\$2,000.00	\$20,000.00	\$20,000.00	\$180.00	\$900.00	\$130.00	\$650.00
25	8 Inch Storm Sewer Pipe, 5 Ft Depth	FOOT	72	\$65.00	\$4,680.00	\$105.00	\$7,560.00	\$95.00	\$6,840.00	\$70.00	\$5,040.00
26	Concrete Inlets, Type G-2	EACH	2	\$3,000.00	\$6,000.00	\$2,700.00	\$5,400.00	\$2,928.00	\$5,856.00	\$1,700.00	\$3,400.00
27	School Name Lettering	LS	1	\$6,000.00	\$6,000.00	\$7,500.00	\$7,500.00	\$6,480.00	\$6,480.00	\$2,300.00	\$2,300.00
28	Sound Walls	SQFT	800	\$60.00	\$48,000.00	\$115.00	\$92,000.00	\$125.00	\$100,000.00	\$55.00	\$44,000.00
29	Cold Plane Pavement Removal, 0 - 2 Inches Deep	SQYD	670	\$3.00	\$2,010.00	\$8.00	\$5,360.00	\$6.50	\$4,355.00	\$7.00	\$4,690.00
30	Cold Plane Pavement Removal, 2 Inches Deep	SQYD	2,700	\$5.00	\$13,500.00	\$3.50	\$9,450.00	\$6.50	\$17,550.00	\$7.00	\$18,900.00
31	3/4 Inch - 0 Aggregate Base	TON	2,300	\$28.00	\$64,400.00	\$26.00	\$59,800.00	\$28.00	\$64,400.00	\$25.00	\$57,500.00
32	Aggregate Shoulders	TON	1,500	\$31.00	\$46,500.00	\$29.00	\$43,500.00	\$23.00	\$34,500.00	\$25.00	\$37,500.00
33	Level 3, 1/2 Inch ACP Mixture PG 70-28ER	TON	910	\$70.00	\$63,700.00	\$76.00	\$69,160.00	\$82.00	\$74,620.00	\$80.90	\$73,619.00
34	Level 3, 1/2 Inch ACP Mixture PG 64-28	TON	1,370	\$68.00	\$93,160.00	\$76.00	\$104,120.00	\$78.75	\$107,887.50	\$77.70	\$106,449.00
35	Extra For Asphalt Approaches	EACH	6	\$2,000.00	\$12,000.00	\$550.00	\$3,300.00	\$918.00	\$5,508.00	\$900.00	\$5,400.00
36	Concrete Curbs, High Strength, Low Profile Mountable, Truck Apron	FOOT	315	\$18.50	\$5,827.50	\$21.00	\$6,615.00	\$18.75	\$5,906.25	\$20.00	\$6,300.00
37	Concrete Curbs, High Strength, Low Profile Mountable	FOOT	2,273	\$18.00	\$40,914.00	\$20.00	\$45,460.00	\$18.25	\$41,482.25	\$22.00	\$50,006.00
38	Concrete Curbs, High Strength, Wide Modified	FOOT	220	\$26.00	\$5,720.00	\$29.00	\$6,380.00	\$27.25	\$5,995.00	\$45.30	\$9,966.00
39	Stamped Concrete, 6 Inches Thick, Concrete Surfacing	SQFT	3,585	\$8.00	\$28,680.00	\$9.00	\$32,265.00	\$8.00	\$28,680.00	\$9.20	\$32,982.00
40	Stamped Concrete, 8 Inches Thick, Concrete Surfacing	SQFT	3,695	\$9.50	\$35,102.50	\$11.00	\$40,645.00	\$9.50	\$35,102.50	\$10.80	\$39,906.00
41	Bicycle Exit Ramp, Concrete Surfacing	SQFT	100	\$9.00	\$900.00	\$11.00	\$1,100.00	\$8.00	\$800.00	\$7.50	\$750.00
42	Curb Cut, Concrete Surfacing	SQFT	500	\$20.00	\$10,000.00	\$19.00	\$9,500.00	\$19.25	\$9,625.00	\$17.30	\$8,650.00
43	Permanent Surface Mounted Tubular Markers	EACH	42	\$135.00	\$5,670.00	\$127.00	\$5,334.00	\$114.00	\$4,788.00	\$130.00	\$5,460.00
44	Thermoplastic, Extruded Or Sprayed, Surface, Non-Profiled	FOOT	16,000	\$1.20	\$19,200.00	\$0.80	\$12,800.00	\$1.00	\$16,000.00	\$0.80	\$12,800.00
45	Pavement Bar: Type AB	SQFT	80	\$15.00	\$1,200.00	\$11.00	\$880.00	\$8.75	\$700.00	\$11.00	\$880.00
46	Pavement Legend, Type AB: Yield Line Triangle	EACH	27	\$60.00	\$1,620.00	\$35.00	\$945.00	\$43.00	\$1,161.00	\$34.00	\$918.00
47	Pavement Legend, Type AB: Arrows	EACH	2	\$350.00	\$700.00	\$320.00	\$640.00	\$324.00	\$648.00	\$320.00	\$640.00
48	Remove Existing Signs	LS	1	\$1,000.00	\$1,000.00	\$950.00	\$950.00	\$369.00	\$369.00	\$500.00	\$500.00
49	Remove And Reinstall Existing Signs	LS	1	\$800.00	\$800.00	\$950.00	\$950.00	\$1,136.00	\$1,136.00	\$600.00	\$600.00
50	Sign Support Footings	LS	1	\$15,200.00	\$15,200.00	\$17,000.00	\$17,000.00	\$17,280.00	\$17,280.00	\$22,500.00	\$22,500.00
51	Triangular Base Breakaway Sign Supports	LS	1	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,420.00	\$12,420.00	\$10,700.00	\$10,700.00

Г

PROJECT # W66086					K&E EXCAVATING, INC.		TAYLOR NORTHWEST LLC		JAL CONSTRUCTION, INC			
	BID RESULTS				ENGINEER'S ESTIMATE		3871 LANGLEY ST SE		18500 BULL SPRINGS RD		123 SE 4TH ST	
				1		SALEM, OR 97317		BEND, OR 97703		BEND, OR 97702		
BID OPENING	BID OPENING : 2:00 PM 9/30/2020					0,122, 01101011				,		
	ITEMS UNIT QNTY			UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	
52	Perforated Steel Square Tube Slip Base Sign	LS	4	\$12,750.00	¢40.750.00	¢11 500 00	¢11 500 00	¢11.000.00	¢11.000.00	¢11.000.00	¢11.000.00	
52	Supports	13	1	\$12,750.00	\$12,750.00	\$11,500.00	\$11,500.00	\$11,880.00	\$11,880.00	\$14,000.00	\$14,000.00	
53	Signs, Standard Sheeting, Sheet Aluminum	SQFT	159	\$30.00	\$4,770.00	\$19.00	\$3,021.00	\$19.50	\$3,100.50	\$32.00	\$5,088.00	
54	Signs, Standard Sheeting, Extruded Aluminum	SQFT	176	\$35.00	\$6,160.00	\$45.00	\$7,920.00	\$46.50	\$8,184.00	\$52.00	\$9,152.00	
55	Pole Foundations	LS	1	\$36,000.00	\$36,000.00	\$19,000.00	\$19,000.00	\$19,600.00	\$19,600.00	\$19,300.00	\$19,300.00	
56	Switching, Conduit, And Wiring	LS	1	\$87,000.00	\$87,000.00	\$80,000.00	\$80,000.00	\$83,500.00	\$83,500.00	\$83,000.00	\$83,000.00	
57	Water Quality Mixture	CUYD	180	\$65.00	\$11,700.00	\$95.00	\$17,100.00	\$98.00	\$17,640.00	\$100.00	\$18,000.00	
58	Permanent Seeding, Mix No. 2, Water Quality Swale Seeding	ACRE	0.1	\$4,500.00	\$450.00	\$16,000.00	\$1,600.00	\$9,720.00	\$972.00	\$5,800.00	\$580.00	
59	Shrubs, #1 Container	EACH	91	\$120.00	\$10,920.00	\$170.00	\$15,470.00	\$145.00	\$13,195.00	\$120.00	\$10,920.00	
60	Shrubs, #2 Container	EACH	27	\$115.00	\$3,105.00	\$175.00	\$4,725.00	\$152.50	\$4,117.50	\$120.00	\$3,240.00	
61	Shrubs, #5 Container	EACH	9	\$280.00	\$2,520.00	\$180.00	\$1,620.00	\$168.50	\$1,516.50	\$285.00	\$2,565.00	
62	Groundcovers, #1 Container	EACH	105	\$90.00	\$9,450.00	\$170.00	\$17,850.00	\$145.00	\$15,225.00	\$95.00	\$9,975.00	
63	Rock Mulch a	TON	12	\$150.00	\$1,800.00	\$105.00	\$1,260.00	\$162.00	\$1,944.00	\$150.00	\$1,800.00	
64	Rock Mulch b	TON	30	\$180.00	\$5,400.00	\$105.00	\$3,150.00	\$162.00	\$4,860.00	\$185.00	\$5,550.00	
65	Conifer Trees, 6 Ft Height	EACH	3	\$780.00	\$2,340.00	\$1,300.00	\$3,900.00	\$432.00	\$1,296.00	\$1,200.00	\$3,600.00	
66	Sod Lawn	SQYD	3,550	\$3.00	\$10,650.00	\$13.50	\$47,925.00	\$14.00	\$49,700.00	\$2.00	\$7,100.00	
67	Boulders	EACH	18	\$180.00	\$3,240.00	\$335.00	\$6,030.00	\$110.00	\$1,980.00	\$200.00	\$3,600.00	
68	Multiple Mailbox Supports	EACH	3	\$500.00	\$1,500.00	\$525.00	\$1,575.00	\$540.00	\$1,620.00	\$1,000.00	\$3,000.00	
					\$1,095,370.00	TOTAL =	\$1,259,945.00	TOTAL =	\$1,265,956.00	TOTAL =	\$1,282,315.00	